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The figures in the margin indicate
full marks for the questions.

Answer the following as directed : _
1x7=7

(a) The oscillatory movement of the time
series, having the period of oscillation

more than a year is termed as Crclkeal Fluctuahm
(Fill in the blank)
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(b) If the trend line with 1994 as origin is
u, =90 + 2t, then trend line with 1991
as origin will be

M) u=84+2t =90t 2[4 41991 -19Y)
(i) u,=94 +2t = B4 +at
(iii)) u,= 82 + 2t
(Choose the correct option)

-

(c) In the time series 2,0,-2,0,2,0, °
-2,0,2 all the four yearly moving
averages are ..£8%es.,

(Fill in the blank)

(d) Variate difference method is used for

determining
(1) tend
'\ (i) seasonal
3 (iii) cyclical

\/{ﬁ_)] random component
(Choose the correct option)

v ec} Purpose of measuring seasonal
Nq'gft"“ variations 1is
L‘y“ _\”‘o‘ (i) to have the knowledge of past
R behaviour e
(ii) to forecast the short-time
fluctuations

(iii) to eliminate seasonal variations for
measuring cyclical fluctuations

‘/(iv) to project the past into future as
a long-term forecast

(Identify the incorrect option)

3 (Sein-5/CBCS) STAHE 2/G 2



(f/ The method of least squares used to fit
the trend of a time series is applicable
only when the trend is

(i) linear
(ii) parabolic
i) Both (i) and (i)
(iv) Neither (i) nor (1)
(Choose the correct option)

(g0 Simple average method is used to
calculate S$¢4san2al indices.
(Fill in the blank)

2. Answer the following questions in brief :
2x4=8

(a) Which component of the time series is
mainly applicable in the following
cases ?

(i) Increase in money circulation bend

(ii) An increase in employment of
labour during harvest time geesonen

(ii) Recession eyeWea)

.~ (iv) The expenditure of political parties
in the days of election ¢yetiext
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(b) Define time series and give its two -
examples

(c) Why is the multlphcatwe model used
most commonly, as compared to
additive model, in the time series

ob analyéis?

R” (d) xplain in brief the uses of time series

Q'V gt a analysis.
P}Q.'af"‘ 1
3. Answer any three of the foNowing

questions : O9x3=15

(a) Explain in brief various components of
a time series with suitable illustrations.

_??fa“' h;\ (b) Mention different types of mathematical

Mjly curves used in fitting trends to
__N\'B“ economic time series. Also indicate the

« procedure for fitting an exponential
TRt RY trend to time series.

How can the annual trend equation .
v= & 3 b ¢ Y= a+ bt be converted to

() monthly trend equation?
1
&YLB_. &,3—-’&- (i) quarterly trend equation?
5 Qb o}, (iii) half-yearly trend equation ?
\ .
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(d)

(e)

How to find out the trend by the

() graphic method ;

(i) semi-average method ?

Also write the merits and demerits of

semi-average method.

How can the ratio to moving average
method be applied for computing the
seasonal indices ?

Answer the following questions 10x3=30

4. (a)

Describe the method of moving averages
for estimating the trend in a time series.
Discuss its merits and demerits. Also

mention the uses of trend analysis.
10

Or

Show how the moving average method
of determining the trend of a time series

is related to the method of fitting curves
>

o by the principle of least squares. - 10

s»‘\“" o ,»5"
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(b)
6.
<\ %
\a

Describe the method of link
relatives for finding seasonal

indices. ' 6

What do you mean Dby
deseasonalisation of data ? Explain
in brief the procedure of finding
the deseasonalised values from a

time series. 4
.Or

Describe briefly a method for the study
of the random component of a time
series, bringing out clearly the
assumptions under which 1t is
applicable. Also estimate the variance
of the random component of a time

series. 10

Describe different methods for

measuring cyclical variation in a time

series. - 10
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Or

(b) Write short notes on the following :
5+5=10

(i) Correlogram

(ii) Exponential smoothing
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